VINCENT J. DEROSE T 613,787,3589 vderose@blg.com Borden Ladner Gervais LLP World Exchange Plaza 100 Queen St. Suite 1300 Ottawa, ON, Canada K1P 1J9 T 613.237.5160 F 613.230.8842 blg.com



Our File # 339583-000231

By electronic filing

March 15, 2016

Kirsten Walli Board Secretary Ontario Energy Board P.O. Box 2319 2300 Yonge Street 27<sup>th</sup> floor Toronto, ON M4P 1E4

Dear Ms. Walli

Re:

Ontario Power Generation Inc. ("OPG")

Application for deferral account related to nuclear liabilities, depreciation and

amortization expense

Board File #:

EB-2015-0374

Pursuant to the Board's Decision and Order dated March 10, 2016, we enclose a Cost Claim on behalf of our client, Canadian Manufacturers & Exporters ("CME").

A copy of this Cost Claim has been forwarded to OPG as instructed in the Decision and Order.

Please contact us if you have any questions or require any additional information.

Yours very truly

Vincent J. DeRose

enclosure

c.

Carlton Mathias (OPG) Paul Clipsham (CME)

OTT01: 7523429: v1



### Affidavit and Summary of Fees and Disbursements

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required (yellow-shaded) fields are filled in and the Affidavit portion is signed and sworn or affirmed.

				Instructions				
- Required data	input is indicate	d by yellow-shaded fiel	ds. Formulas	are embedded in the form t	o assist with calculations.			
- All claims must be in Canadian dollars. If applicable, state exchange rate and country of initial currency.								
	Rate: Country:							
Being Claimed") Disbursements" - The cost claim - A CV for each c	is required for ecovering the whomust be supportonsultant/analy	each lawyer, analyst/co nole of the party's cost ted by a completed Aff rst must be attached ur	nsultant and claim should idavit signed iless provided	articling student/paralegal. be provided. by a representative of the pa I to the Board as prescribed		ees and		
File # EB- 2	2015-0374		Process:		ion Inc. Application for deferral ities, depreciation & amortization			
Party:	Canadian Ma	nufacturers & Expo	orters	Affiant's Name	e: Vincent J. DeRose			
HST Number:	10807 5	482 RT0001	_	HS	T Rate Ontario: 13.00%			
		Full Registrant		Qualif	ying Non-Profit □			
		Unregistered			Tax Exempt			
		Other	<b>V</b>					
	1 - 2 d 32 d 15 l 15		H- H- Kal	Affidavit				
_	/incent J. De	eRose		, of the City of	Ottawa			
in the Provin	ice of	Or	itario		, swear or affirm that:			
<ul><li>2. I have examine Claimed", "State</li><li>3. The attached "</li></ul>	ed all of the doc ment(s) of Fees Summary of Fe nclude only cost	umentation in support Being Claimed" and "St es and Disbursements E	of this cost cl atement(s) of Being Claimed	aim, including the attached f Disbursements Being Claim ", "Statement(s) of Fees Bei	ne matters attested to herein. "Summary of Fees and Disbursemer ned". ng Claimed" and "Statement(s) of D s participation in the Ontario Energy	isbursements		
4. This cost claim sections 6.05 and	6.09 of the Boa	le any costs for work do ard's Practice Direction	one, or time s on Cost Awaı	pent, by a person that is an rds.	employee or officer of the Party as o	described in		
Sworn or aff	irmed befoi	<b>'e me</b> at the City	of	Ottawa	n n			
	n the Province of Ontario , on March 15, 2016 . (date)							



#### **Affidavit and Summary of Fees and Disbursements**

Ontario Power Generation Inc. Application for deferral account

2015-0374 Process: related to nuclear liabilities, depreciation & amortization expense

Party:

File # EB-

**Canadian Manufacturers & Exporters** 

Summary of Fees and Disbursements Being Claimed						
Legal/consultant/other fees	\$1,295.00					
Disbursements	\$50.00					
HST	\$174.85					
Total Cost Claim	\$1,519.85					

#### **Payment Information**

Make cheque payable to: Borden Ladner Gervais LLP

Send payment to this address: Borden Ladner Gervais LLP

Attention: Vincent J. DeRose

World Exchange Plaza

100 Queen Street, Suite 1300

Ottawa, ON K1P 1J9



### **Detail of Fees and Disbursements Being Claimed**

File # EB-	2015-0374		related to n	uclear liabilit	on Inc. Application for deferral account ies, depreciation & amortization expense		
Party: Canadian Manufacturers & Ex		(porters	Service Provider Name:		Vincent J. DeRose		
	Service Provider Type	(check one)	Year Called to Bar			Completed Years Practising/Years of relevant experience	
	Legal Counsel	<b>✓</b>		2001		15	
	Articling Student/Paralegal		9.5				
	Consultant				I	Hourly Rate:	\$290.00
	Analyst					_	
	For Consultant/Analyst:		CV attached		<b>HST Rate Char</b>	ged (enter %)	13%
			CV provided	within previous	24 months	-	
	S	tatement o	f Fees Bei	ng Claimed	y 1 - 14 7 -		
		Hours	Hourly rate	Subtotal	HST	To	otal
Argument	Preparation	0.50	\$290.00	\$145.00	\$18.85		\$163.85
TOTAL SER	VICE PROVIDER FEES			\$145.00	\$18.85		\$163.85

# Ontario Energy Board COST CLAIM FOR HEARINGS Detail of Fees being Claimed



FIIE #:	Ontario Power Generation Inc. Application for deformal account related to puellog					
Process:						
Party:						
Name:	Vince DeRose					
Feb 17-16	Reviewing Reply Sub	missions	0.5	Argument Prep		
		Total Hours for Vince DeRose:	0.5	_		
	<u>Hours</u>			<u>Fees</u>		
Argument Prep	0.5	x \$290.00/hr =		145.00		
	0.5	Total Fees for Vince DeRose:		\$ 145.00		

OTT01: 7523250: v1



### **Detail of Fees and Disbursements Being Claimed**

File # EB-	2015-0374 Proces	Ontario Power Generation related to nuclear liabilities	•			
Party:	Canadian Manufacturers & Exporters	Service Provider Name: Vincent J. DeRose				
	Statement of D	isbursements Being Claim	ied			
		Net Cost	HST	Total		
LPIC Levy S	urcharge (as in previous cost claims)	\$50.00	\$6.50	\$56.50		
Other:			\$0.00	\$0.00		
Report to the						
TOTAL DIS	BURSEMENTS:	\$50.00	\$6.50	\$56.50		



### **Detail of Fees and Disbursements Being Claimed**

File # EB-	2015-0374	Process:	Ontario Power Generation Inc. Application for deferral account  related to nuclear liabilities, depreciation & amortization expense				
Party:	Canadian Manufacturers & Ex	xporters	Service Pro	ovider Name:	Emma Blanch	ard	
	Service Provider Type	(check one)		Year Called to Bar			Practising/Years experience
	Legal Counsel	✓	2007			9	
	<b>Articling Student/Paralegal</b>		•		(4		
	Consultant				H	Hourly Rate:	\$230.00
	Analyst					_	
	For Consultant/Analyst:		CV attached		HST Rate Char	ged (enter %)	13%
			CV provided	within previous	24 months	, <u></u>	
Tanka.	S	tatement o	f Fees Bei	ng Claimed			
		Hours	Hourly rate	Subtotal	HST	To	tal
Preparation	n	0.30	\$230.00	\$69.00	\$8.97		\$77.97
Argument	Preparation	4.50	\$230.00	\$1,035.00	\$134.55		\$1,169.55
Post-Decisi	on Activities	0.20	\$230.00	\$46.00	\$5.98		\$51.98
TOTAL SER	VICE PROVIDER FEES			\$1,150.00	\$149.50		\$1,299.50

# Ontario Energy Board COST CLAIM FOR HEARINGS Detail of Fees being Claimed



\$1,150.00

File #:	EB-2015-	0374						
Process:	Ontario Power Generation Inc. Application for deferral account related to nuclear liabilities, depreciation & amortization expense							
Party:	Canadian Manufacturers & Exporters							
Name:	Emma BI	anchard						
Jan 27-16	Receipt an Application		Procedural Order No. 1; review OPG	0.3	Preparation			
Feb 7-16	Coalition re	d consider c e request for deferral acco	0.2	Argument Prep				
Feb 8-16	deferral ac	plication for count to cap om changes	0.8	Argument Prep				
Feb 9-16	Conference with V. DeRose re CME position on proposed deferral account; draft Submissions of CME; communications with P. Clipsham and I. Shaw regarding CME position on Application				Argument Prep			
Feb 10-16	Finalize Su	ubmissions;	telephone call to J. Shepherd	0.3	Argument Prep			
Feb 17-16	Receipt an	d review of	OPG Reply Submissions	0.2	Argument Prep			
Mar 11-16	Receipt and review of Decision and Order				Post-Decision Activities			
			Total Hours for Emma Blanchard:	5.0				
		Hours			Fees			
Preparation		0.3	x \$230.00/hr =		69.00			
Argument Prep 4.5 x \$230.00/h		x \$230.00/hr =		1,035.00				
Post-Decision Activities		0.2	x \$230.00/hr =		46.00			

Total Fees for Emma Blanchard:

5.0